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(BAL: AT/ ke)

HIE B H29.7.3 =it8 H29.7.4
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
1|ER M FV ND ND ND
272 T R ND ND ND
373 i E IR ND ND ND
4
5
BIE B H29.7.4 b7y = H29.7.5
RIERER
BS & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
IEDAA K (=T ND ND ND
2729 TR IR ND ND ND
3Bl e = R ND ND ND
4
5
HBIE B H29.7.5 =it H29.7.6
AIERR
B5S Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137 g
1|RAR e = R ND ND ND
2lRRE e = R ND ND ND
37yl — e e ND ND ND
4
5
BIEB H29.7.6 =it H29.7.7
RIERER
5 B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
NESEES Za—U—JUR ND ND ND
2[5 oFN R IR ND ND ND
IROER K B ND ND ND
4
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HIE B H29.7.7 =it8 H29.7.10
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
1WAZ TR ND ND ND
2lERE LEZNS ND ND ND
RNE THENR ND ND ND
4
5
BIE B H29.7.10 b7y = H29.7.11
RIERER
BS & B EHh Bt % BT LA
IYF-131 | U L-134 | £ L-137 B
HELU LR R ND ND ND
2[5 2F N R ND ND ND
IHNAE RIS ND ND ND
4
5
HBIE B H29.7.11 =it H29.7.12
AIERR
B5S Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137
L IO RIS ND ND ND
2\lzhH IR ND ND ND
3HL e e ND ND ND
4
5
BIEB H29.7.12 =it H29.7.13
RIERER
5 B Eh Bt %R BT L
A0F-131 | B L-134 | £ 1137 E
s 3E IR IR ND ND ND
2|y Y R IR ND ND ND
KN ESSES R ND ND ND
4
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HIE B H29.7.13 =it8 H29.7.14
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
1|RAR AR IR ND ND ND
2723 TERS R ND ND ND
IHMOEH e e R ND ND ND
4
5
BIE B H29.7.14 b7y = H29.7.18
RIERER
= & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
1| ERE P IR ND ND ND
2ELR REA IR ND ND ND
3L RIS ND ND ND
4
5
HBIE B H29.7.18 =it H29.7.19
AIERR
5 Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137 g
1ERE e = R ND ND ND
2[Fp e = R ND ND ND
3HLANT A IR IR ND ND ND
4
5
BIEB H29.7.19 =it H29.7.20
RIERER
B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
NS THENR ND ND ND
KIR & oy I ND ND ND
FIAHE G A R ND ND ND
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HIE B H29.7.20 =it8 H29.7.21
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 i
SR BRI ND ND ND
2Ry —= PR ND ND ND
IR E 2 — A Bk I ND ND ND
4
5
BIE B H29.7.21 b7y = H29.7.24
RIERER
BS & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
1|RAR HARR ND ND ND
2lRRE R ND ND ND
3L RIS ND ND ND
4
5
HBIE B H29.7.24 =it H29.7.25
AIERR
5 Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137 g
1=EZ e = R ND ND ND
2[Fp KR ND ND ND
BFHLAEE TS R ND ND ND
4
5
BIEB H29.7.25 =it HZ29.7.26
RIERER
5 B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
1| ERE LN ND ND ND
2[5 LT TR R ND ND ND
IROER iy I ND ND ND
4
5
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HIE B H29.7.26 =it8 H29.7.27
BIERR
5 & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
1WAZ AR IR ND ND ND
20EB R ) 1 IR ND ND ND
/O e IR ND ND ND
4
5
BIE B H29.7.27 b7y = H29.7.28
RIERER
= & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
N (=T ND ND ND
2[Zw9Hb R ND ND ND
FHHHA =R ND ND ND
4
5
HBIE B H29.7.28 =it H29.7.31
AIERR
5 Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137 g
1| ERE e = R ND ND ND
N TR ND ND ND
JRHE e e ND ND ND
4
5
BIEB H29.7.31 =it H29.8.1
RIERER
B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
KIR JetEiE ND ND ND
DX /AL R IR ND ND ND
HbHA A U ND ND ND
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HIE B H29.8.1 =it8 H29.8.2
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
MEONAE RIS ND ND ND
20EB R i b R ND ND ND
314+ it ND ND ND
4
5
BIE B H29.8.2 b7y = H29.8.3
RIERER
BS & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
ZhH LN ND ND ND
7D B ND ND ND
ROER K H B ND ND ND
4
5
HBIE B H29.8.3 =it H29.8.4
AIERR
B5S Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137 g
17 ayal)— AbifEiE ND ND ND
2[572LH U KR ND ND ND
3| SE e e ND ND ND
4
5
BIEB H29.8.4 =it H29.8.7
RIERER
5 B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
1\AZ JetEiE ND ND ND
2lERE LN ND ND ND
3L R ND ND ND
4
5
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HIE B H29.8.7 =it8 H29.8.8
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
1\ ia3E R ND ND ND
2[Zxw9Y RYF IR ND ND ND
3Fp TERS R ND ND ND
4
5
BIE B H29.8.8 b7y = H29.8.9
RIERER
BS & B EHh Bt % BT LA
IYF-131 | U L-134 | £ L-137 B
1|7 ay=al)— it ND ND ND
276 T AV ND ND ND
K1 =Rt e = R ND ND ND
4
5
HBIE B H29.8.9 =it H29.8.10
AIERR
5 Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137
=) KR ND ND ND
2ELR RIS ND ND ND
3|$RfE FV ND ND ND
4
5
BIEB H29.8.17 =it H29.8.18
RIERER
5 B Eh Bt %R BT L
A0F-131 | B L-134 | £ 1137 E
1\AZ HARE ND ND ND
2[5 LT TR R ND ND ND
3iEHFA G A R ND ND ND
4
5
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HIE B H29.8.18 =it8 H29.8.21
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
1| EhE e e ND ND ND
2[Zxw9Y i b R ND ND ND
3KIF —A Bk I ND ND ND
4
5
BIE B H29.8.21 b7y = H29.8.22
RIERER
BS & B EHh Bt % mEHEES D L
A0F-131 | €I L-134 | £ L4137
1=£Z T R ND ND ND
2[5 2F N R ND ND
37 myal— Bl w(isTE] ND ND
4
5
HBIE B H29.8.22 =it H29.8.23
AIERR
B5S Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137
1|RAR AR ND ND ND
23 peaia Sy ND ND ND
3y Fepsalnt ND ND ND
4
5
BIEB H29.8.23 =it H29.8.24
RIERER
5 B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
LA KPR ND ND ND
2[C%730 v Rl U ND ND ND
A DEY KR ND ND ND
4
5
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HIE B H29.8.24 =it8 H29.8.25
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
SR e e ND ND ND
20—~ i b R ND ND ND
IHMOEH Bk I ND ND ND
4
5
BIE B H29.8.25 b7y = H29.8.28
RIERER
BS & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
WAZ it ND ND ND
2lRRE R ND ND ND
3 EhRE AbifEiE ND ND ND
4
5
HBIE B H29.8.28 =it H29.8.29
AIERR
B5S Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137 g
Ui Y® e = R ND ND ND
2[ZwHY G ND ND ND
BFHLAEE TS R ND ND ND
4
5
BIEB H29.8.29 =it H29.8.30
RIERER
5 B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
L] UYL JetEiE ND ND ND
2|y Y LIS IR ND ND ND
IROER iy I ND ND ND
4
5
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HIE B H29.8.30 =it8 H29.8.31
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
1|14+%L AetEiE ND ND ND
20—~ i b R ND ND ND
IR yF—= PR ND ND ND
4
5
BIE B H29.8.31 b7y = H29.9.1
RIERER
BS & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
1/ IMASE RYF IR ND ND ND
2| KAR AbifEiE ND ND ND
372D B e R ND ND ND
4
5
HBIE B H29.9.1 =it H29.9.4
AIERR
B5S Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137 g
1WAZ AR ND ND ND
2l ERE e = R ND ND ND
3[ZwpIY e e ND ND ND
4
5
BIEB H29.9.4 =it H29.9.5
RIERER
5 B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
s 3E R ND ND ND
R haE e e ND ND ND
3L R ND ND ND
4
5

10 /15 R—



REFFREORSGEHEAERR CEREEH]

HIE B H29.9.5 =it8 H29.9.6
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
1157210 B ND ND ND
2FHIAEE LEZNS ND ND ND
3KIF —A Bk I ND ND ND
4
5
BIE B H29.9.6 b7y = H29.9.7
RIERER
BS & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
JAELWT AR ND ND ND
2729 B e R ND ND ND
roEH KPR ND ND ND
4
5
HBIE B H29.9.7 =it H29.9.8
AIERR
5 Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137 g
1zH LN ND ND ND
2[Fp TR IR ND ND ND
FHEHLHA IR IR ND ND ND
4
5
BIEB H29.9.8 =it H29.9.11
RIERER
5 B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
1|RAR JetEiE ND ND ND
2|l —~ e e ND ND ND
KN ESSES AbifiE ND ND ND
4
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HIE B H29.9.11 =it8 H29.9.12
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
WA LA AetEiE ND ND ND
2L it ND ND ND
37yl — PR ND ND ND
4
5
BIE B H29.9.12 b7y = H29.9.13
RIERER
= & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
1=FZ (=T ND ND ND
2[Zw9Hb R ND ND ND
FHHHA =R ND ND ND
4
5
HBIE B H29.9.13 =it H29.9.14
AIERR
5 Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137 g
e b4 TR IR ND ND ND
2[572LH U BT ND ND ND
BFHLAEE TS R ND ND ND
4
5
BIEB H29.9.14 =it H29.9.15
RIERER
B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
ISR IR IR ND ND ND
X JeiEiE ND ND ND
Eh¥ K B ND ND ND
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HIE B H29.9.15 =it8 H29.9.19
BIERR
B5S & B Eth Bt %R BEtEES L
IAUF-131 | £V L-134 | 29 L-137 &
1WAZ TR ND ND ND
2|57 LU T R ND ND ND
IHMOEH Bk I ND ND ND
4
5
BIE B H29.9.19 b7y = H29.9.20
RIERER
BS & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
1|RAR it ND ND ND
2lERE AbifEiE ND ND ND
RNE e = R ND ND ND
4
5
HBIE B H29.9.20 =it H29.9.21
AIERR
B5S Y= EHh BEEI V%R MRS L
A9F-131 | PV L-134 | £ L4137 g
Ui Y® e = R ND ND ND
2ELR e = R ND ND ND
3F Y LIS IR ND ND ND
4
5
BIEB H29.9.21 =it H29.9.22
RIERER
5 B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137 E
1W=EZ TR R ND ND ND
2[C%730 v JeiEiE ND ND ND
3R K B ND ND ND
4
5
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HIE B H29.9.22 =it8 H29.9.25
BIERR
B5S B Eth WA FR BEtEES L
I L-134 | £ L-137 &
1|ERE RIS ND ND ND
2 NS it ND ND ND
JJeED e e R ND ND ND
4
5
BIE B H29.9.25 b7y = H29.9.26
BEHSR
BS & B EHh Bt % mEHEES D L
IYF-131 | U L-134 | £ L-137 H
1|RAR it ND ND ND
AT G ND ND ND
3 EhRE AbifEiE ND ND ND
4
5
HBIE B H29.9.26 =it H29.9.27
AIERR
B5S s EHh WAV ER MRS L
A9F-131 | PV L-134 | £ L4137
1/ IMASE RIS ND ND
2\lzhH IR ND ND
3= oFNG TR ND ND
4
5
BIEB H29.9.27 =it H29.9.28
RIERER
5 B Eh Bt %R MEHEES D L
A0F-131 | B L-134 | £ 1137
1BOER Fepsalnt ND ND
(2 DEFE KPR ND ND
3iEHFA TG I ND ND
4
5
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HAIE R H29.9.28 =R H29.9.29
BIERER
=) & B FEH mEEIDR WEHEES D L
IoF-131 | EYHL-134 | £ .L-137 g
1729 1 Jn I ND ND ND
20— PRI IR ND ND ND
KINESZES) JbimE ND ND ND
4
5
HIE B H29.9.29 RiEE H29.10.2
BIEHER
& B Eih WEHEID R WE D L
IroE-131 | 29 L-134 | £ L-137 B
KAR oy IR ND ND ND
A& THER ND ND ND
EhE o i U ND ND ND
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